ME 1020 Engineering Programming with MATLAB

Problem 7.2:

2.

Thirty pieces of structural timber of the same dimensions were subjected
to an increasing lateral force until they broke. The measured force in
pounds required to break them is given in the following list. Plot the ab-
solute frequency histogram. Try bin widths of 50, 100, and 200 1b. Which
gives the most meaningful histogram? Try to find a better value for the
bin width.

243 236 389 628 143 417 205
404 464 605 137 123 372 439
497 500 535 577 441 231 675
132 196 217 660 569 865 725
457 347

Go to the following webpage to download the data for this problem:

www.cs.wright.edu/~sthomas/prob7 2.xlsx

% Problem 7.2
clear
clc

dizsp('Proklem 7.2: Scott Thomas')
force = rlsread|('prokT 2°);

sgtart = 0;

=tep = 50;

stop = 1000;
X = start:step:stop;

FAbsolute Frequency Plot:

hist (force, x)

xlabel {"Force (pounds)'), wvlabel ('LZbsolute Freguency')
title{"Problem 7.2: Scott Thomas')

axis([start stop 0 4])

text (7530, 3.75,'Bin Width = 50")

Ftext (750, 3.75,
Ftext (750, 3.75,

in Width = 200"}
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